SH6FE

18 17

RIETH :

16:45

45 IS4 H P PR

T F E FE e 12 2

-nﬂJGfF—F‘ZH TEFE

2 1%
t

3EPERTR b

FomR SR F R
~2R6H

o | g2 FHERT NP
FREFA Yy —Y LBERTE
SBEEE ARBECT J—HET— P

YAPS 12:30 1|Ak5|k6 7 1, 22ERT A+

Mipmenss oY 1230 X0 PN R N & FERTAND

'8'7J< (15:20) ol x|o K1 |ok2 k3| Ka|k5|Ke 8

9|k as200 |0/ x|o K1|k2|K3 |44 45|46 9

) (15:20) AREEET FHER
%2 FHERSAS =1 1| &2 &3 |£4|&5|%&6
10| 6 1k 2 FFiER IS [h78E] smeas |00 21]22(23|24|25|% 10 I,

12 AR
13 13 |&| 82%=0 0/ 50
I i " " " " " " HEBEHRD 2 FFIRFR
14| ER5 Y as3s  |ojojo K1|x2| k3| ka|Ks|xe 12| e (5o
;7}< ;Z;;i O x|O JK1|7K2|K3|[Kk4|K5|Kk6
Sw—v - LEERE
15:20 1 2 3 4 5 6
X5 . mmosemmms (2-3) I ARLIRZ\ A3 IAL RS A
17|%] (15:20) O x|O A2le3|B4alAs|e5|26 17 18 HEEHARRR
1FEEFEE £BEKQ
HEBREO
1EIRER
SRR RIRIR A
EEEEL (B
20| 8|/ —ET— 14400 |0|0|x A1lA2|A3|BalEs| / 20 K| T EEERE
BIRE
SHESET GREIRYSEI305~. SHE (505) N
2K e mam1905 . e 1825 1010 as15  |o[x|o 1| k2| A3 | k4| ks |mea 21 |&|  ERES(BE)
2'27k (15:20) O x|O|  BIT#RAR |k 1|2 |k3|Kk4|Kk5| k6 2
-
23|k 4B (13:15) Of | | FEEESEIE | o skl /| 23
~1A298
24\& (15:20)
25 EERE
2% 2 k| sEAERESE
dEEET /—EET —
275&13;& s T 1330 |00 x B2|A3|A4lASs| /| / a7 |K| s
FER~14
BB HIRRE T
8|k 15:20 1| k2| k3| x4a|ks5| X6 8
28|k 15200 |0 x|O) K1 x| A3|ka|xs|x 2@9%5]2&“%%
(13:15) R R B AR Her
AR E T SRR & (1-3-2-5 X 1 2 3 4
29 | K| 4B % WIS ( ) s (14:30) O x . KL |K2|7K3 |7k T /
30| 15200 |0 %0 K1|H2 A3 |AK4|HK5|*6
31|&|7 2 FEERE B L 15200 |0 x|x 21|22 %3|44|25|26




L | |
[@n7>e5—mma @Exakme) 1% 188 |2%

|
188 [3% 188 |5 1698




